
Graphing Exercise

1. For the given function f , find its amplitude and period, and graph the function.
On your graph, for at least one cycle, indicate the x−coordinate of where the the
maximum and minimum value(s) occurs, and where the function intercepts its
neutral position.

a. f(x) = −2 sin (x+ 1).

Ans: Start Point: x = −1; amplitude = 2; period = 2π; End Point: x = −1+2π;

neutral position at x = −1 + π; min at x = −1 +
π

2
; max at x = −1 +

3π

2
;

b. f(x) = sin (−x+ 1).

Ans: Start Point: x = 1; amplitude = 1; period = 2π; End Point: x = 1 + 2π;

neutral position at x = 1 + π; min at x = 1 +
π

2
; max at x = 1 +

3π

2
;



c. f(x) = 2 sin (πx+ 1).

Ans: Start Point: x = −1

π
; amplitude = 2; period = 2; End Point: x = −1

π
+ 2;

neutral position at x = −1

π
+ 1; min at x = −1

π
+

3

2
; max at x = −1

π
+

1

2
;

d. f(x) = −2 sin (2x− π) − 3.

Ans: Start Point: x =
π

2
; amplitude = 2; period = π; End Point: x =

π

2
+π =

3π

2
;

neutral position at x =
π

2
+
π

2
= π; min at x =

π

2
+
π

4
=

3π

4
; max at x =

5π

4
;



e. f(x) = sin
(x

2
− 1

)
.

Ans: Start Point: x = 2; amplitude = 1; period = 4π; End Point: x = 2 + 4π;
neutral position at x = 2 + 2π; min at x = 2 + 3π; max at x = 2 + π;

f. f(x) = sin
(
−x
π

+ 1
)
− 1.

Ans: Start Point: x = π; amplitude = 1; period = 2π2; End Point: x = π + 2π2;

neutral position at x = π +
π2

2
; min at x = π +

π2

4
; max at x = π +

3π2

4
;



g. f(x) = 2 sin
(πx

2
+ 2

)
.

Ans: Start Point: x = −4

π
; amplitude = 2; period = 4; End Point: x = −4

π
+ 4;

neutral position at x = −4

π
+ 2; min at x = −4

π
+ 3; max at x = −4

π
+ 1;

h. f(x) = cos (−x+ 1) + 2.

Ans: Start Point: x = 1; amplitude = 1; period = 2π; End Point: x = 1 + 2π;

neutral positions at x = 1 +
π

2
and x = 1 +

3π

2
; min at x = 1 + π;



i. f(x) = −2 cos
(πx

3
− π

)
.

Ans: Start Point: x = 3; amplitude = 2; period = 6; End Point: x = 9; neutral

positions at x =
9

2
and x =

15

2
; max at x = 6

j. f(x) = cos (−x− 2) − 1.

Ans: Start Point: x = −2; amplitude = 1; period = 2π; End Point: x = 2 + 2π;

neutral positions at x = −2 +
π

2
and x = −2 +

3π

2
; min at x = −2 + π;



k. f(x) = cos

(
2x

3
− 1

)
+ 2.

Ans: Start Point: x =
3

2
; amplitude = 1; period = 3π; End Point: x =

3

2
+ 3π;

neutral positions at x =
3

2
+

3π

4
and at x =

3

2
+

9π

4
; min at x =

3 + 3π

2
;

l. f(x) = − cos
(
−x

2
+ 1

)
.

Ans: Start Point: x = 2; amplitude = 1; period = 4π; End Point: x = 2 + 4π;
neutral positions at x = 2 + π and x = 2 + 3π; max at x = 2 + 2π;



m. f(x) = cos (−3x+ 1).

Ans: Start Point: x =
1

3
; amplitude = 1; period =

2π

3
; End Point: x =

1

3
+

2π

3
;

neutral positions at x =
1

3
+
π

6
and x =

1

3
+
π

2
; min at x =

1 + π

3
;

n. f(x) = cos (x− π).

Ans: Start Point: x = π; amplitude = 1; period = 2π; End Point: x = 3π;

neutral positions at x =
3π

2
and x =

5π

2
; min at x = 2π;



2. Let f(x) = tan(x− 4).

a. Find the period of f .

Ans: p = π

b. Graph f . In your graph, for at least one cycle of f , indicate the coordinates
of the x intercept, and the location of the vertical asymptotes.

Ans:

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6 x

-4

-3

-2

-1

1

2

3

4

y

o

(231,172)

Graphing... x= -6.8333  f(x)= -6.1095x= -6.8   f(x)= -5.0478x= -6.7667  f(x)= -4.292x= -6.7333  f(x)= -3.7255x= -6.7   f(x)= -3.2841x= -6.6667  f(x)= -2.9299x= -6.6333  f(x)= -2.6388x= -6.6   f(x)= -2.3947x= -6.5667  f(x)= -2.1868x= -6.5333  f(x)= -2.0071x= -6.5   f(x)= -1.8499x= -6.4667  f(x)= -1.711x= -6.4333  f(x)= -1.5871x= -6.4   f(x)= -1.4757x= -6.3667  f(x)= -1.3747x= -6.3333  f(x)= -1.2825x= -6.3   f(x)= -1.198x= -6.2667  f(x)= -1.1199x= -6.2333  f(x)= -1.0474x= -6.2   f(x)= -0.9799x= -6.1667  f(x)= -0.9166x= -6.1333  f(x)= -0.857x= -6.1   f(x)= -0.8008x= -6.0667  f(x)= -0.7475x= -6.0333  f(x)= -0.6968x= -6.0   f(x)= -0.6484x= -5.9667  f(x)= -0.602x= -5.9333  f(x)= -0.5575x= -5.9   f(x)= -0.5146x= -5.8667  f(x)= -0.4731x= -5.8333  f(x)= -0.4329x= -5.8   f(x)= -0.3939x= -5.7667  f(x)= -0.3559x= -5.7333  f(x)= -0.3187x= -5.7   f(x)= -0.2824x= -5.6667  f(x)= -0.2467x= -5.6333  f(x)= -0.2116x= -5.6   f(x)= -0.177x= -5.5667  f(x)= -0.1428x= -5.5333  f(x)= -0.109x= -5.5   f(x)= -0.0754x= -5.4667  f(x)= -0.0419x= -5.4333  f(x)= -0.0086x= -5.4   f(x)= 0.0248x= -5.3667  f(x)= 0.0582x= -5.3333  f(x)= 0.0917x= -5.3   f(x)= 0.1254x= -5.2667  f(x)= 0.1594x= -5.2333  f(x)= 0.1938x= -5.2   f(x)= 0.2286x= -5.1667  f(x)= 0.264x= -5.1333  f(x)= 0.3x= -5.1   f(x)= 0.3367x= -5.0667  f(x)= 0.3742x= -5.0333  f(x)= 0.4127x= -5.0   f(x)= 0.4523x= -4.9667  f(x)= 0.4931x= -4.9333  f(x)= 0.5352x= -4.9   f(x)= 0.5789x= -4.8667  f(x)= 0.6243x= -4.8333  f(x)= 0.6716x= -4.8   f(x)= 0.7211x= -4.7667  f(x)= 0.7731x= -4.7333  f(x)= 0.8278x= -4.7   f(x)= 0.8856x= -4.6667  f(x)= 0.9469x= -4.6333  f(x)= 1.0122x= -4.6   f(x)= 1.082x= -4.5667  f(x)= 1.1571x= -4.5333  f(x)= 1.2383x= -4.5   f(x)= 1.3264x= -4.4667  f(x)= 1.4226x= -4.4333  f(x)= 1.5285x= -4.4   f(x)= 1.6457x= -4.3667  f(x)= 1.7765x= -4.3333  f(x)= 1.9239x= -4.3   f(x)= 2.0914x= -4.2667  f(x)= 2.284x= -4.2333  f(x)= 2.5084x= -4.2   f(x)= 2.7737x= -4.1667  f(x)= 3.0932x= -4.1333  f(x)= 3.4861x= -4.1   f(x)= 3.9824x= -4.0667  f(x)= 4.6307x= -4.0333  f(x)= 5.5157x= -4.0   f(x)= 6.7997x= -3.9667  f(x)= 8.8367x= -3.9333  f(x)= 12.5757x= -3.9   f(x)= 21.7151x= -3.8667  f(x)= 78.8288x= -3.8333  f(x)= -48.4233x= -3.8   f(x)= -18.5068x= -3.7667  f(x)= -11.4237x= -3.7333  f(x)= -8.2483x= -3.7   f(x)= -6.4429x= -3.6667  f(x)= -5.276x= -3.6333  f(x)= -4.4583x= -3.6   f(x)= -3.8523x= -3.5667  f(x)= -3.3842x= -3.5333  f(x)= -3.0111x= -3.5   f(x)= -2.706x= -3.4667  f(x)= -2.4515x= -3.4333  f(x)= -2.2354x= -3.4   f(x)= -2.0493x= -3.3667  f(x)= -1.887x= -3.3333  f(x)= -1.7439x= -3.3   f(x)= -1.6166x= -3.2667  f(x)= -1.5022x= -3.2333  f(x)= -1.3988x= -3.2   f(x)= -1.3046x= -3.1667  f(x)= -1.2183x= -3.1333  f(x)= -1.1387x= -3.1   f(x)= -1.0649x= -3.0667  f(x)= -0.9962x= -3.0333  f(x)= -0.9319x= -3.0   f(x)= -0.8714x= -2.9667  f(x)= -0.8144x= -2.9333  f(x)= -0.7604x= -2.9   f(x)= -0.7091x= -2.8667  f(x)= -0.6602x= -2.8333  f(x)= -0.6133x= -2.8   f(x)= -0.5683x= -2.7667  f(x)= -0.525x= -2.7333  f(x)= -0.4832x= -2.7   f(x)= -0.4428x= -2.6667  f(x)= -0.4035x= -2.6333  f(x)= -0.3652x= -2.6   f(x)= -0.3279x= -2.5667  f(x)= -0.2913x= -2.5333  f(x)= -0.2555x= -2.5   f(x)= -0.2203x= -2.4667  f(x)= -0.1856x= -2.4333  f(x)= -0.1513x= -2.4   f(x)= -0.1173x= -2.3667  f(x)= -0.0837x= -2.3333  f(x)= -0.0502x= -2.3   f(x)= -0.0168x= -2.2667  f(x)= 0.0165x= -2.2333  f(x)= 0.0499x= -2.2   f(x)= 0.0834x= -2.1667  f(x)= 0.117x= -2.1333  f(x)= 0.151x= -2.1   f(x)= 0.1853x= -2.0667  f(x)= 0.22x= -2.0333  f(x)= 0.2552x= -2.0   f(x)= 0.291x= -1.9667  f(x)= 0.3275x= -1.9333  f(x)= 0.3649x= -1.9   f(x)= 0.4031x= -1.8667  f(x)= 0.4424x= -1.8333  f(x)= 0.4829x= -1.8   f(x)= 0.5247x= -1.7667  f(x)= 0.5679x= -1.7333  f(x)= 0.6129x= -1.7   f(x)= 0.6597x= -1.6667  f(x)= 0.7087x= -1.6333  f(x)= 0.76x= -1.6   f(x)= 0.8139x= -1.5667  f(x)= 0.8709x= -1.5333  f(x)= 0.9313x= -1.5   f(x)= 0.9956x= -1.4667  f(x)= 1.0643x= -1.4333  f(x)= 1.138x= -1.4   f(x)= 1.2175x= -1.3667  f(x)= 1.3038x= -1.3333  f(x)= 1.3979x= -1.3   f(x)= 1.5013x= -1.2667  f(x)= 1.6155x= -1.2333  f(x)= 1.7427x= -1.2   f(x)= 1.8856x= -1.1667  f(x)= 2.0477x= -1.1333  f(x)= 2.2336x= -1.1   f(x)= 2.4494x= -1.0667  f(x)= 2.7036x= -1.0333  f(x)= 3.0081x= -1.0   f(x)= 3.3805x= -0.9667  f(x)= 3.8476x= -0.9333  f(x)= 4.4521x= -0.9   f(x)= 5.2675x= -0.8667  f(x)= 6.4303x= -0.8333  f(x)= 8.2279x= -0.8   f(x)= 11.3849x= -0.7667  f(x)= 18.4057x= -0.7333  f(x)= 47.7386x= -0.7   f(x)= -80.7128x= -0.6667  f(x)= -21.8559x= -0.6333  f(x)= -12.623x= -0.6   f(x)= -8.8602x= -0.5667  f(x)= -6.8137x= -0.5333  f(x)= -5.525x= -0.5   f(x)= -4.6373x= -0.4667  f(x)= -3.9874x= -0.4333  f(x)= -3.49x= -0.4   f(x)= -3.0963x= -0.3667  f(x)= -2.7763x= -0.3333  f(x)= -2.5106x= -0.3   f(x)= -2.2858x= -0.2667  f(x)= -2.093x= -0.2333  f(x)= -1.9253x= -0.2   f(x)= -1.7778x= -0.1667  f(x)= -1.6468x= -0.1333  f(x)= -1.5295x= -0.1   f(x)= -1.4235x= -0.0667  f(x)= -1.3272x= -0.0333  f(x)= -1.239x= 0.0   f(x)= -1.1578x= 0.0333   f(x)= -1.0827x= 0.0667   f(x)= -1.0128x= 0.1   f(x)= -0.9474x= 0.1333   f(x)= -0.8861x= 0.1667   f(x)= -0.8283x= 0.2   f(x)= -0.7736x= 0.2333   f(x)= -0.7216x= 0.2667   f(x)= -0.6721x= 0.3   f(x)= -0.6247x= 0.3333   f(x)= -0.5793x= 0.3667   f(x)= -0.5356x= 0.4   f(x)= -0.4935x= 0.4333   f(x)= -0.4527x= 0.4667   f(x)= -0.4131x= 0.5   f(x)= -0.3746x= 0.5333   f(x)= -0.337x= 0.5667   f(x)= -0.3003x= 0.6   f(x)= -0.2643x= 0.6333   f(x)= -0.229x= 0.6667   f(x)= -0.1941x= 0.7   f(x)= -0.1597x= 0.7333   f(x)= -0.1257x= 0.7667   f(x)= -0.092x= 0.8   f(x)= -0.0585x= 0.8333   f(x)= -0.0251x= 0.8667   f(x)= 0.0083x= 0.9   f(x)= 0.0416x= 0.9333   f(x)= 0.0751x= 0.9667   f(x)= 0.1087x= 1.0   f(x)= 0.1425x= 1.0333   f(x)= 0.1767x= 1.0667   f(x)= 0.2113x= 1.1   f(x)= 0.2464x= 1.1333   f(x)= 0.2821x= 1.1667   f(x)= 0.3184x= 1.2   f(x)= 0.3555x= 1.2333   f(x)= 0.3935x= 1.2667   f(x)= 0.4326x= 1.3   f(x)= 0.4727x= 1.3333   f(x)= 0.5142x= 1.3667   f(x)= 0.5571x= 1.4   f(x)= 0.6016x= 1.4333   f(x)= 0.6479x= 1.4667   f(x)= 0.6963x= 1.5   f(x)= 0.747x= 1.5333   f(x)= 0.8003x= 1.5667   f(x)= 0.8565x= 1.6   f(x)= 0.916x= 1.6333   f(x)= 0.9793x= 1.6667   f(x)= 1.0468x= 1.7   f(x)= 1.1192x= 1.7333   f(x)= 1.1972x= 1.7667   f(x)= 1.2818x= 1.8   f(x)= 1.3738x= 1.8333   f(x)= 1.4747x= 1.8667   f(x)= 1.5861x= 1.9   f(x)= 1.7098x= 1.9333   f(x)= 1.8486x= 1.9667   f(x)= 2.0056x= 2.0   f(x)= 2.185x= 2.0333   f(x)= 2.3927x= 2.0667   f(x)= 2.6364x= 2.1   f(x)= 2.9271x= 2.1333   f(x)= 3.2807x= 2.1667   f(x)= 3.7211x= 2.2   f(x)= 4.2863x= 2.2333   f(x)= 5.04x= 2.2667   f(x)= 6.0982x= 2.3   f(x)= 7.6966x= 2.3333   f(x)= 10.3988x= 2.3667   f(x)= 15.9697x= 2.4   f(x)= 34.2325x= 2.4333   f(x)= -242.1493x= 2.4667   f(x)= -26.6805x= 2.5   f(x)= -14.1014x= 2.5333   f(x)= -9.5687x= 2.5667   f(x)= -7.2288x= 2.6   f(x)= -5.7979x= 2.6333   f(x)= -4.8306x= 2.6667   f(x)= -4.1317x= 2.7   f(x)= -3.6021x= 2.7333   f(x)= -3.1861x= 2.7667   f(x)= -2.8499x= 2.8   f(x)= -2.5722x= 2.8333   f(x)= -2.3383x= 2.8667   f(x)= -2.1382x= 2.9   f(x)= -1.9648x= 2.9333   f(x)= -1.8127x= 2.9667   f(x)= -1.6779x= 3.0   f(x)= -1.5574x= 3.0333   f(x)= -1.4488x= 3.0667   f(x)= -1.3502x= 3.1   f(x)= -1.2602x= 3.1333   f(x)= -1.1773x= 3.1667   f(x)= -1.1008x= 3.2   f(x)= -1.0296x= 3.2333   f(x)= -0.9632x= 3.2667   f(x)= -0.9009x= 3.3   f(x)= -0.8423x= 3.3333   f(x)= -0.7868x= 3.3667   f(x)= -0.7342x= 3.4   f(x)= -0.6841x= 3.4333   f(x)= -0.6363x= 3.4667   f(x)= -0.5904x= 3.5   f(x)= -0.5463x= 3.5333   f(x)= -0.5038x= 3.5667   f(x)= -0.4627x= 3.6   f(x)= -0.4228x= 3.6333   f(x)= -0.384x= 3.6667   f(x)= -0.3463x= 3.7   f(x)= -0.3093x= 3.7333   f(x)= -0.2732x= 3.7667   f(x)= -0.2377x= 3.8   f(x)= -0.2027x= 3.8333   f(x)= -0.1682x= 3.8667   f(x)= -0.1341x= 3.9   f(x)= -0.1003x= 3.9333   f(x)= -0.0668x= 3.9667   f(x)= -0.0333x= 4.0   f(x)= 0.0x= 4.0333   f(x)= 0.0333x= 4.0667   f(x)= 0.0668x= 4.1   f(x)= 0.1003x= 4.1333   f(x)= 0.1341x= 4.1667   f(x)= 0.1682x= 4.2   f(x)= 0.2027x= 4.2333   f(x)= 0.2377x= 4.2667   f(x)= 0.2732x= 4.3   f(x)= 0.3093x= 4.3333   f(x)= 0.3463x= 4.3667   f(x)= 0.384x= 4.4   f(x)= 0.4228x= 4.4333   f(x)= 0.4627x= 4.4667   f(x)= 0.5038x= 4.5   f(x)= 0.5463x= 4.5333   f(x)= 0.5904x= 4.5667   f(x)= 0.6363x= 4.6   f(x)= 0.6841x= 4.6333   f(x)= 0.7342x= 4.6667   f(x)= 0.7868x= 4.7   f(x)= 0.8423x= 4.7333   f(x)= 0.9009x= 4.7667   f(x)= 0.9632x= 4.8   f(x)= 1.0296x= 4.8333   f(x)= 1.1008x= 4.8667   f(x)= 1.1773x= 4.9   f(x)= 1.2602x= 4.9333   f(x)= 1.3502x= 4.9667   f(x)= 1.4488x= 5.0   f(x)= 1.5574x= 5.0333   f(x)= 1.6779x= 5.0667   f(x)= 1.8127x= 5.1   f(x)= 1.9648x= 5.1333   f(x)= 2.1382x= 5.1667   f(x)= 2.3383x= 5.2   f(x)= 2.5722x= 5.2333   f(x)= 2.8499x= 5.2667   f(x)= 3.1861x= 5.3   f(x)= 3.6021x= 5.3333   f(x)= 4.1317x= 5.3667   f(x)= 4.8306x= 5.4   f(x)= 5.7979x= 5.4333   f(x)= 7.2288x= 5.4667   f(x)= 9.5687x= 5.5   f(x)= 14.1014x= 5.5333   f(x)= 26.6805x= 5.5667   f(x)= 242.1493x= 5.6   f(x)= -34.2325x= 5.6333   f(x)= -15.9697x= 5.6667   f(x)= -10.3988x= 5.7   f(x)= -7.6966x= 5.7333   f(x)= -6.0982x= 5.7667   f(x)= -5.04x= 5.8   f(x)= -4.2863x= 5.8333   f(x)= -3.7211x= 5.8667   f(x)= -3.2807x= 5.9   f(x)= -2.9271x= 5.9333   f(x)= -2.6364x= 5.9667   f(x)= -2.3927x= 6.0   f(x)= -2.185x= 6.0333   f(x)= -2.0056x= 6.0667   f(x)= -1.8486x= 6.1   f(x)= -1.7098x= 6.1333   f(x)= -1.5861x= 6.1667   f(x)= -1.4747x= 6.2   f(x)= -1.3738x= 6.2333   f(x)= -1.2818x= 6.2667   f(x)= -1.1972x= 6.3   f(x)= -1.1192x= 6.3333   f(x)= -1.0468x= 6.3667   f(x)= -0.9793x= 6.4   f(x)= -0.916x= 6.4333   f(x)= -0.8565x= 6.4667   f(x)= -0.8003x= 6.5   f(x)= -0.747x= 6.5333   f(x)= -0.6963x= 6.5667   f(x)= -0.6479x= 6.6   f(x)= -0.6016x= 6.6333   f(x)= -0.5571x= 6.6667   f(x)= -0.5142x= 6.7   f(x)= -0.4727x= 6.7333   f(x)= -0.4326x= 6.7667   f(x)= -0.3935x= 6.8   f(x)= -0.3555x= 6.8333   f(x)= -0.3184x= 6.8667   f(x)= -0.2821 1.47s

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

f(x) = tan(x-4)  domain = (-∞, ∞)

3. Let f(x) = 2 sec(πx+ 1).

a. Find the period of f .

Ans: p = 2

b. Graph f . In your graph, for at least one cycle of f , indicate the coordinates
of the x maximum and minimum values of f , and the location of the vertical
asymptotes.

Ans:
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(231,172)

Graphing... x= -2.1134  f(x)= 2.5004x= -2.1031  f(x)= 2.5641x= -2.0928  f(x)= 2.6339x= -2.0825  f(x)= 2.7105x= -2.0722  f(x)= 2.7948x= -2.0619  f(x)= 2.8876x= -2.0515  f(x)= 2.99x= -2.0412  f(x)= 3.1033x= -2.0309  f(x)= 3.229x= -2.0206  f(x)= 3.3691x= -2.0103  f(x)= 3.5257x= -2.0   f(x)= 3.7016x= -1.9897  f(x)= 3.9004x= -1.9794  f(x)= 4.1263x= -1.9691  f(x)= 4.3848x= -1.9588  f(x)= 4.6831x= -1.9485  f(x)= 5.0307x= -1.9381  f(x)= 5.4401x= -1.9278  f(x)= 5.9288x= -1.9175  f(x)= 6.5216x= -1.9072  f(x)= 7.2545x= -1.8969  f(x)= 8.1827x= -1.8866  f(x)= 9.3945x= -1.8763  f(x)= 11.0412x= -1.866   f(x)= 13.4049x= -1.8557  f(x)= 17.0792x= -1.8454  f(x)= 23.5625x= -1.8351  f(x)= 38.0436x= -1.8247  f(x)= 98.9778x= -1.8144  f(x)= -164.2127x= -1.8041  f(x)= -44.8909x= -1.7938  f(x)= -26.015x= -1.7835  f(x)= -18.3277x= -1.7732  f(x)= -14.1587x= -1.7629  f(x)= -11.5447x= -1.7526  f(x)= -9.7542x= -1.7423  f(x)= -8.4521x= -1.732   f(x)= -7.4637x= -1.7216  f(x)= -6.6885x= -1.7113  f(x)= -6.0649x= -1.701   f(x)= -5.553x= -1.6907  f(x)= -5.1258x= -1.6804  f(x)= -4.7642x= -1.6701  f(x)= -4.4547x= -1.6598  f(x)= -4.1871x= -1.6495  f(x)= -3.9537x= -1.6392  f(x)= -3.7486x= -1.6289  f(x)= -3.5674x= -1.6186  f(x)= -3.4062x= -1.6082  f(x)= -3.2623x= -1.5979  f(x)= -3.1332x= -1.5876  f(x)= -3.017x= -1.5773  f(x)= -2.912x= -1.567   f(x)= -2.8169x= -1.5567  f(x)= -2.7307x= -1.5464  f(x)= -2.6522x= -1.5361  f(x)= -2.5808x= -1.5258  f(x)= -2.5157x= -1.5155  f(x)= -2.4563x= -1.5052  f(x)= -2.4021x= -1.4948  f(x)= -2.3526x= -1.4845  f(x)= -2.3076x= -1.4742  f(x)= -2.2665x= -1.4639  f(x)= -2.2292x= -1.4536  f(x)= -2.1953x= -1.4433  f(x)= -2.1648x= -1.433   f(x)= -2.1372x= -1.4227  f(x)= -2.1125x= -1.4124  f(x)= -2.0906x= -1.4021  f(x)= -2.0713x= -1.3918  f(x)= -2.0544x= -1.3814  f(x)= -2.04x= -1.3711  f(x)= -2.0279x= -1.3608  f(x)= -2.018x= -1.3505  f(x)= -2.0103x= -1.3402  f(x)= -2.0047x= -1.3299  f(x)= -2.0013x= -1.3196  f(x)= -2.0x= -1.3093  f(x)= -2.0008x= -1.299   f(x)= -2.0037x= -1.2887  f(x)= -2.0087x= -1.2784  f(x)= -2.0159x= -1.268   f(x)= -2.0252x= -1.2577  f(x)= -2.0368x= -1.2474  f(x)= -2.0506x= -1.2371  f(x)= -2.0669x= -1.2268  f(x)= -2.0856x= -1.2165  f(x)= -2.1069x= -1.2062  f(x)= -2.1308x= -1.1959  f(x)= -2.1576x= -1.1856  f(x)= -2.1875x= -1.1753  f(x)= -2.2205x= -1.1649  f(x)= -2.2569x= -1.1546  f(x)= -2.297x= -1.1443  f(x)= -2.3411x= -1.134   f(x)= -2.3894x= -1.1237  f(x)= -2.4424x= -1.1134  f(x)= -2.5004x= -1.1031  f(x)= -2.5641x= -1.0928  f(x)= -2.6339x= -1.0825  f(x)= -2.7105x= -1.0722  f(x)= -2.7948x= -1.0619  f(x)= -2.8876x= -1.0515  f(x)= -2.99x= -1.0412  f(x)= -3.1033x= -1.0309  f(x)= -3.229x= -1.0206  f(x)= -3.3691x= -1.0103  f(x)= -3.5257x= -1.0   f(x)= -3.7016x= -0.9897  f(x)= -3.9004x= -0.9794  f(x)= -4.1263x= -0.9691  f(x)= -4.3848x= -0.9588  f(x)= -4.6831x= -0.9485  f(x)= -5.0307x= -0.9381  f(x)= -5.4401x= -0.9278  f(x)= -5.9288x= -0.9175  f(x)= -6.5216x= -0.9072  f(x)= -7.2545x= -0.8969  f(x)= -8.1827x= -0.8866  f(x)= -9.3945x= -0.8763  f(x)= -11.0412x= -0.866   f(x)= -13.4049x= -0.8557  f(x)= -17.0792x= -0.8454  f(x)= -23.5625x= -0.8351  f(x)= -38.0436x= -0.8247  f(x)= -98.9778x= -0.8144  f(x)= 164.2127x= -0.8041  f(x)= 44.8909x= -0.7938  f(x)= 26.015x= -0.7835  f(x)= 18.3277x= -0.7732  f(x)= 14.1587x= -0.7629  f(x)= 11.5447x= -0.7526  f(x)= 9.7542x= -0.7423  f(x)= 8.4521x= -0.732   f(x)= 7.4637x= -0.7216  f(x)= 6.6885x= -0.7113  f(x)= 6.0649x= -0.701   f(x)= 5.553x= -0.6907  f(x)= 5.1258x= -0.6804  f(x)= 4.7642x= -0.6701  f(x)= 4.4547x= -0.6598  f(x)= 4.1871x= -0.6495  f(x)= 3.9537x= -0.6392  f(x)= 3.7486x= -0.6289  f(x)= 3.5674x= -0.6186  f(x)= 3.4062x= -0.6082  f(x)= 3.2623x= -0.5979  f(x)= 3.1332x= -0.5876  f(x)= 3.017x= -0.5773  f(x)= 2.912x= -0.567   f(x)= 2.8169x= -0.5567  f(x)= 2.7307x= -0.5464  f(x)= 2.6522x= -0.5361  f(x)= 2.5808x= -0.5258  f(x)= 2.5157x= -0.5155  f(x)= 2.4563x= -0.5052  f(x)= 2.4021x= -0.4948  f(x)= 2.3526x= -0.4845  f(x)= 2.3076x= -0.4742  f(x)= 2.2665x= -0.4639  f(x)= 2.2292x= -0.4536  f(x)= 2.1953x= -0.4433  f(x)= 2.1648x= -0.433   f(x)= 2.1372x= -0.4227  f(x)= 2.1125x= -0.4124  f(x)= 2.0906x= -0.4021  f(x)= 2.0713x= -0.3918  f(x)= 2.0544x= -0.3814  f(x)= 2.04x= -0.3711  f(x)= 2.0279x= -0.3608  f(x)= 2.018x= -0.3505  f(x)= 2.0103x= -0.3402  f(x)= 2.0047x= -0.3299  f(x)= 2.0013x= -0.3196  f(x)= 2.0x= -0.3093  f(x)= 2.0008x= -0.299   f(x)= 2.0037x= -0.2887  f(x)= 2.0087x= -0.2784  f(x)= 2.0159x= -0.268   f(x)= 2.0252x= -0.2577  f(x)= 2.0368x= -0.2474  f(x)= 2.0506x= -0.2371  f(x)= 2.0669x= -0.2268  f(x)= 2.0856x= -0.2165  f(x)= 2.1069x= -0.2062  f(x)= 2.1308x= -0.1959  f(x)= 2.1576x= -0.1856  f(x)= 2.1875x= -0.1753  f(x)= 2.2205x= -0.1649  f(x)= 2.2569x= -0.1546  f(x)= 2.297x= -0.1443  f(x)= 2.3411x= -0.134   f(x)= 2.3894x= -0.1237  f(x)= 2.4424x= -0.1134  f(x)= 2.5004x= -0.1031  f(x)= 2.5641x= -0.0928  f(x)= 2.6339x= -0.0825  f(x)= 2.7105x= -0.0722  f(x)= 2.7948x= -0.0619  f(x)= 2.8876x= -0.0515  f(x)= 2.99x= -0.0412  f(x)= 3.1033x= -0.0309  f(x)= 3.229x= -0.0206  f(x)= 3.3691x= -0.0103  f(x)= 3.5257x= 0.0   f(x)= 3.7016x= 0.0103   f(x)= 3.9004x= 0.0206   f(x)= 4.1263x= 0.0309   f(x)= 4.3848x= 0.0412   f(x)= 4.6831x= 0.0515   f(x)= 5.0307x= 0.0619   f(x)= 5.4401x= 0.0722   f(x)= 5.9288x= 0.0825   f(x)= 6.5216x= 0.0928   f(x)= 7.2545x= 0.1031   f(x)= 8.1827x= 0.1134   f(x)= 9.3945x= 0.1237   f(x)= 11.0412x= 0.134   f(x)= 13.4049x= 0.1443   f(x)= 17.0792x= 0.1546   f(x)= 23.5625x= 0.1649   f(x)= 38.0436x= 0.1753   f(x)= 98.9778x= 0.1856   f(x)= -164.2127x= 0.1959   f(x)= -44.8909x= 0.2062   f(x)= -26.015x= 0.2165   f(x)= -18.3277x= 0.2268   f(x)= -14.1587x= 0.2371   f(x)= -11.5447x= 0.2474   f(x)= -9.7542x= 0.2577   f(x)= -8.4521x= 0.268   f(x)= -7.4637x= 0.2784   f(x)= -6.6885x= 0.2887   f(x)= -6.0649x= 0.299   f(x)= -5.553x= 0.3093   f(x)= -5.1258x= 0.3196   f(x)= -4.7642x= 0.3299   f(x)= -4.4547x= 0.3402   f(x)= -4.1871x= 0.3505   f(x)= -3.9537x= 0.3608   f(x)= -3.7486x= 0.3711   f(x)= -3.5674x= 0.3814   f(x)= -3.4062x= 0.3918   f(x)= -3.2623x= 0.4021   f(x)= -3.1332x= 0.4124   f(x)= -3.017x= 0.4227   f(x)= -2.912x= 0.433   f(x)= -2.8169x= 0.4433   f(x)= -2.7307x= 0.4536   f(x)= -2.6522x= 0.4639   f(x)= -2.5808x= 0.4742   f(x)= -2.5157x= 0.4845   f(x)= -2.4563x= 0.4948   f(x)= -2.4021x= 0.5052   f(x)= -2.3526x= 0.5155   f(x)= -2.3076x= 0.5258   f(x)= -2.2665x= 0.5361   f(x)= -2.2292x= 0.5464   f(x)= -2.1953x= 0.5567   f(x)= -2.1648x= 0.567   f(x)= -2.1372x= 0.5773   f(x)= -2.1125x= 0.5876   f(x)= -2.0906x= 0.5979   f(x)= -2.0713x= 0.6082   f(x)= -2.0544x= 0.6186   f(x)= -2.04x= 0.6289   f(x)= -2.0279x= 0.6392   f(x)= -2.018x= 0.6495   f(x)= -2.0103x= 0.6598   f(x)= -2.0047x= 0.6701   f(x)= -2.0013x= 0.6804   f(x)= -2.0x= 0.6907   f(x)= -2.0008x= 0.701   f(x)= -2.0037x= 0.7113   f(x)= -2.0087x= 0.7216   f(x)= -2.0159x= 0.732   f(x)= -2.0252x= 0.7423   f(x)= -2.0368x= 0.7526   f(x)= -2.0506x= 0.7629   f(x)= -2.0669x= 0.7732   f(x)= -2.0856x= 0.7835   f(x)= -2.1069x= 0.7938   f(x)= -2.1308x= 0.8041   f(x)= -2.1576x= 0.8144   f(x)= -2.1875x= 0.8247   f(x)= -2.2205x= 0.8351   f(x)= -2.2569x= 0.8454   f(x)= -2.297x= 0.8557   f(x)= -2.3411x= 0.866   f(x)= -2.3894x= 0.8763   f(x)= -2.4424x= 0.8866   f(x)= -2.5004x= 0.8969   f(x)= -2.5641x= 0.9072   f(x)= -2.6339x= 0.9175   f(x)= -2.7105x= 0.9278   f(x)= -2.7948x= 0.9381   f(x)= -2.8876x= 0.9485   f(x)= -2.99x= 0.9588   f(x)= -3.1033x= 0.9691   f(x)= -3.229x= 0.9794   f(x)= -3.3691x= 0.9897   f(x)= -3.5257x= 1.0   f(x)= -3.7016x= 1.0103   f(x)= -3.9004x= 1.0206   f(x)= -4.1263x= 1.0309   f(x)= -4.3848x= 1.0412   f(x)= -4.6831x= 1.0515   f(x)= -5.0307x= 1.0619   f(x)= -5.4401x= 1.0722   f(x)= -5.9288x= 1.0825   f(x)= -6.5216x= 1.0928   f(x)= -7.2545x= 1.1031   f(x)= -8.1827x= 1.1134   f(x)= -9.3945x= 1.1237   f(x)= -11.0412x= 1.134   f(x)= -13.4049x= 1.1443   f(x)= -17.0792x= 1.1546   f(x)= -23.5625x= 1.1649   f(x)= -38.0436x= 1.1753   f(x)= -98.9778x= 1.1856   f(x)= 164.2127x= 1.1959   f(x)= 44.8909x= 1.2062   f(x)= 26.015x= 1.2165   f(x)= 18.3277x= 1.2268   f(x)= 14.1587x= 1.2371   f(x)= 11.5447x= 1.2474   f(x)= 9.7542x= 1.2577   f(x)= 8.4521x= 1.268   f(x)= 7.4637x= 1.2784   f(x)= 6.6885x= 1.2887   f(x)= 6.0649x= 1.299   f(x)= 5.553x= 1.3093   f(x)= 5.1258x= 1.3196   f(x)= 4.7642x= 1.3299   f(x)= 4.4547x= 1.3402   f(x)= 4.1871x= 1.3505   f(x)= 3.9537x= 1.3608   f(x)= 3.7486x= 1.3711   f(x)= 3.5674x= 1.3814   f(x)= 3.4062x= 1.3918   f(x)= 3.2623x= 1.4021   f(x)= 3.1332x= 1.4124   f(x)= 3.017x= 1.4227   f(x)= 2.912x= 1.433   f(x)= 2.8169x= 1.4433   f(x)= 2.7307x= 1.4536   f(x)= 2.6522x= 1.4639   f(x)= 2.5808x= 1.4742   f(x)= 2.5157x= 1.4845   f(x)= 2.4563x= 1.4948   f(x)= 2.4021x= 1.5052   f(x)= 2.3526x= 1.5155   f(x)= 2.3076x= 1.5258   f(x)= 2.2665x= 1.5361   f(x)= 2.2292x= 1.5464   f(x)= 2.1953x= 1.5567   f(x)= 2.1648x= 1.567   f(x)= 2.1372x= 1.5773   f(x)= 2.1125x= 1.5876   f(x)= 2.0906x= 1.5979   f(x)= 2.0713x= 1.6082   f(x)= 2.0544x= 1.6186   f(x)= 2.04x= 1.6289   f(x)= 2.0279x= 1.6392   f(x)= 2.018x= 1.6495   f(x)= 2.0103x= 1.6598   f(x)= 2.0047x= 1.6701   f(x)= 2.0013x= 1.6804   f(x)= 2.0x= 1.6907   f(x)= 2.0008x= 1.701   f(x)= 2.0037x= 1.7113   f(x)= 2.0087x= 1.7216   f(x)= 2.0159x= 1.732   f(x)= 2.0252x= 1.7423   f(x)= 2.0368x= 1.7526   f(x)= 2.0506x= 1.7629   f(x)= 2.0669x= 1.7732   f(x)= 2.0856x= 1.7835   f(x)= 2.1069x= 1.7938   f(x)= 2.1308x= 1.8041   f(x)= 2.1576x= 1.8144   f(x)= 2.1875x= 1.8247   f(x)= 2.2205x= 1.8351   f(x)= 2.2569x= 1.8454   f(x)= 2.297x= 1.8557   f(x)= 2.3411x= 1.866   f(x)= 2.3894x= 1.8763   f(x)= 2.4424x= 1.8866   f(x)= 2.5004x= 1.8969   f(x)= 2.5641x= 1.9072   f(x)= 2.6339x= 1.9175   f(x)= 2.7105x= 1.9278   f(x)= 2.7948x= 1.9381   f(x)= 2.8876x= 1.9485   f(x)= 2.99x= 1.9588   f(x)= 3.1033x= 1.9691   f(x)= 3.229x= 1.9794   f(x)= 3.3691x= 1.9897   f(x)= 3.5257x= 2.0   f(x)= 3.7016x= 2.0103   f(x)= 3.9004x= 2.0206   f(x)= 4.1263x= 2.0309   f(x)= 4.3848x= 2.0412   f(x)= 4.6831x= 2.0515   f(x)= 5.0307x= 2.0619   f(x)= 5.4401x= 2.0722   f(x)= 5.9288x= 2.0825   f(x)= 6.5216x= 2.0928   f(x)= 7.2545x= 2.1031   f(x)= 8.1827x= 2.1134   f(x)= 9.3945x= 2.1237   f(x)= 11.0412 1.23s
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f(x) = 2*sec(π*x+1)  domain = (-∞, ∞)


